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1. THEE ARES BN f 2REHZ( )

A. A=R,B={IF2¥3, f: AdhposiansesiE B. A={0,1},B={-101, f : AFHEKESR
C. A=Z,B=0Q, f : A RIEEVEIH D. A={-1,0,1},B={-10,1}, f : AhtEHIES

2. E',%ﬂf(%x—l)=2x—5, Hf(a)=6, MaFF( )
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3. BHMy=f(X) BREXER LHZFEH, WTRINRBFAFREHZ( )
Oy=1(x]); @Qy=1(-x); Qy=xf(x); @y=x+1f(x)-
A. OB B. @@ c. ®@ D. @@
4.@%&y=«/x—2+ﬁﬁ’af£>‘(ﬁi%( )
A [4,40) B. [2.4] c. [24)u(4+0)  D. [-4,2]
. x> —ax,x<0 .
5. a%n@ﬂzf(x)z{ 2 HEEH, Ma= ()
ax“+x,x>0
A —1 B.1 C.0 D. +1

6. XhEREFMEBNILITEMEN, HR=ERHBIE, E—4: AREER 0-200 TR (AT
BFRE), BE0.5T; £ AMBEET 200 EETEEE 400 Ei, BHAFIEE0. 6 7T; £=
t5: AREERT 400 Eif, BHNEIEE 0.8 7T; HRFPER I AMHIARER 420 &, MizAF9
RN ER( )

A. 210 T B. 232t C. 2367t D. 276 £

7. 90, ~AOD Z—EfRIIKA 1 WHFRER=AK, FTEEN OBD BHyz—RIE, =P HELR

AB t, PQLAB, EPQX AD5xIMDBT=Q, ®AP=x(0<x<2), EHREEHIRTOFEE

Efz APQ (5 APQD)HIER A Y, MEHK Y= f (X) WABERZ( )
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A. O B. 1 C.

9 (Zikd) THIEHF, EXiE 01 ERERHHE ()

A y=x| B. y=x+3 C. y:% D. y=—xt+4
10 (ZE5) £ TFERE T (X) = VX +2x+ 3 PG EFRI R ( )

A BN, EESRIE[-1,3],[0,+0) B. BIFBXIER (1]

c. EX. EiFSH=ZE[-13],[0,2] D. BiIfEXERZ[-11]

11 (Zikd) EXER ERNFERE | (X) AREY, BHEHKg(X) ZXE[0,+0) LHERS f(X) MERE
&, ®a>b>0, MTHAFAFXFMIAE ( )

A. f(b)-f(-a)<g(a)-g(-b) B. f(b)—f(-a)>g(a)—g(-b)
c. f(a)+ f(-b)<g()—g(-a) D. f(a)+ f(-b)>g)—-g(-a)

12 (ZBIARD) BHE XA R R f(X) 7 (4, +0) EAREH, BRHy=f(X+4) AERHK, W )
A f(2)>1(3) B. f(2)=1f(6) c. f(3)=1(5) D. f(3)> f(6)
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13. E%ﬂ%@%&f(x):k-xaﬁ'ﬂ%ﬁ,'f—i(a,?), Mk +a =

IX,0<x<1

= f =f 1), ma=
2(x-1),x>1" £f(a)=T(a+1), ma

“ &f(x):{

15. BEIRB Y = X2 +ax —1+ 2a KI{EHE 3 [0, +0) , M a WEMESEE 2
16. BEESA={xeZ|xX*—(a+2)x+2—-a<0}hBEARE—ITE, WESLHaWEEEER .

17. BMELH f () BEXER LHBEY, BYx<0Bf, f(X)=x"+2X.

MUREEL R f (X) £y HEAMOESR, MEFRR, BHETEERY f (X) HER, HAREERKELHE

o

81 f (X) BOIRIE); iﬁ? e
(2) ST T (x) HORRHTFES. [ﬂ?jf 1
T
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18. BHMETF XHAZER X +ax+b>0.
M BZAFANBER (-4,2), kK a,bHIE;
Q) &Eb=a+1, KEAFZFXRE.

19. BmER f ()= 2 xe[35].
X+1

(1) #67 f(x) ZEX 8 [3,5] LB B HIER;

)k f(X) WEXEMS/VE.

20. BHEH f(X) FFEEXyeR, 2Hf(X)+f(y)=f(x+y), BEx>08}, f(x)<O.
(1 3KiE: f(X) ER LRFHRE;
(2)3kiE: f(X) ER LRRERE;

(3% f(1)= —g, % £ (x) EXE[-3,3] LHB A RS M.
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21. (M) 408, FHI R 4y B4 5%/ ABC % DEF , ek AB L BC,EF L DF,DF L AB, C,E,F
=gt FD5BAMEKETTFAO, M8 AB=3m, BC=4km, DF = % km, FE=3km,
EC = g km , %51 OA,OD FRZEES4 314 X ¥ 452 T EE A 4475 XOy MTR DE AR St
y= %Z (Rtha,b 2EH) W—Wsy, TE AC TEMBEL y=korm (Heh k, M%) B—i
%.

(1) ka,b,k,mgyqa.

(2) TR & —EEAR MN , E M, N 5817 DE, AC |, B MN L AC , M HoH&s4m t . SHAR MN

BRI XTFURRHEXRR = 1), HEAES; HUAAER, |RESME? S MERSD?
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